H100mEBF

148 No. |-0.9m i JIE 45 ECE% 2% No. |+0.9m i@ JE AL LR
4 71115[ 8RR EBith 4|5 S#ER(RE L) 1 11.01 1 2055| 7 RE 3|EER 1 11.02
1 71123[BEAR #B—H J|EEBRKR(ER) 2 11.12 3 HH EF 2[[EE#X 2 11.04
3 71114|F@L & 4| EERX 3 11.15 2 71992 (LI 1|EERX 3 11.31
2 71117({s0 5L 4| EERKER) 4 11.32 4 #HE BE 2[[EERXK 4 11.39

348 No. [-1.1m B g 452 R 4#8 No. [+2.2m B JIE 42 sR8%
2 28 Rk 1|EERX 1 11.16 1 71989 | AR FIX 1| EERBX 1 11.18
4 845| AfE HEARER 2| LEER¥RS 2 11.25 3 71996 | F4E 1 1EBEX 2 11.28
3 " 5& 2{EERXK 3 11.32 4 71135 FL 1AL 2{[EERK 3 11.37
1 1312| 54 ELIWAC 4 11.41 2 867 |W\E Z#t 2| EBES 4 11.42

5#H No. |+0.3m i JIE 45 ks 648 No. |-0.3m i@ JE AL LR
3 71990 | /& [t 1| [ SR (RE L) 1 11.33 4 90| X% F 1| EEERERS 1 11.33
2 877| ER&E Kith AESLT=) 2 11.58 3 890[#t)Il BEEE 208=#E5 2 11.86
4 1189|{fE& K BN 2| LEBHEE 3 11.59 2 993|hE HAth 2| EkEE 3 11.87
1 71225| &0 18 KER 3|EEI X 4 11.72 1 72303 | AR Eit PNZTEPN 4 11.93

748 No. [+1.3m B g 452 R 8#l No. |+0.8m B JIE 42 sR8%
2 1107 | fE &< B K#t 2|5ATE 1 11.29 3 1205|#£8F K#h 2| RELS 1 11.48
1 71075 |RTE  X# 4|IEEXR 2 11.33 1 1264[3R O IR 2{REFTE 2 11.64
4 412l —&E 1 BYEES 3 11.43 2 78| XE & 2ERFS 3 11.82
3 1086 [(AIN & th 2N EEES 4 11.65 4 71988| =2 E# 1EEBRX 4 12.63

offl No. [+2.1m i JIE £ FRER 10f8]  No. [+1.7m i JI§ {5 ECER
2 837|FHE Eth ARCESS) 1 11.58 3 960|FH A#E 23|DHC 1 11.47
1 902[IFRA FTF 42|ASTHY T 2 11.61 2 535[:kith R 1| REFHS 2 11.70
3 1728 &H Y 3| 8=FAs 3 11.73 1 1085| BT {F8 2 MALEES 3 11.83
4 836|HEH X AES1C eSS 4 12.24 4 3920|#f £ AES F1|FIVETTSR 4 12.02

1158 No. [+1.3m g JIE {2 L8R 1248 No. |+0.4m E JIE {2 ECER

11.36 EA #HA 3[LERK 1 11.36 1 KH HE 3| LERK 1 11.67
2 hEE 4| LERK 2 11.61 4 82| HE =T 2 11.91
1 844|F I 3 AS1CESS 3 11.81 2 71991 |HHR #X 1EBEX 3 11.93
3 889| =M #t3 208 =#E5 4 11.86 3 71232| =58 K— 3|[GEITK 4 12.23

1348 No. |+0.3m i JIE 45 ECER 1448 No. |-1.1m i@ JE AL LR
3 1201 [k B& 2| TREILS 1 11.98 3 1135| §iE FIA 2[BERE 1 11.94
1 1298 5& MiFE 2| EEER¥RES 2 11.98 2 1040| B =F SR 2 11.97
2 2|)lih BE 1| IESERFRS 3 12.02 4 83|k A— 1| iEL S 3 12.02
4 1198[fE 4K FE 2| RELES 4 12.26 1 433|HEAR X &5 4 12.71

1558 No. [+1.6m FiE JIE {2 L8R 1648 No. |+1.3m E JIE {2 ECER
1 468|EE 5 1| RS 1 11.91 4 72360 | Bk B 1| EBHIIKE 1 12.13
3 534|BAX EBH REFTS 2 11.95 1 1212| ER gE= 2| LEER¥RS 2 12.17
4 492| K &N | EEBHES 3 12.16 2 1260| =M HiE EEnTE) 3 12.43
2 71131 | B 2| LERK 4 15.06 3 494|BEAR &b 1|55 4 12.65

1748 No. [+1.6m i JIE £ FRER 18f8]  No. [+0.2m i JI§ {5 ECER
2 2277(iT#% & 20| ETIRER 1 12.22 2 296 | R {EER 1| REES 1 12.04
3 4208| BAR HEK 1| RERMRF 2 12.50 3 1139|/MNE EF 20 5BHE 2 12.33
4 434|fEH & 1|&EE 3 12.60 1 3911 | IR B4 F1|FAIVETTSR 3 12.37
1 3865|400 ¥ 40|0OPC 4 12.73 4 1084| K& FAF AL EES 4 12.44

1958 No. [+0.3m FiE JIE {2 L8R 20#f No. |+0.1m E JIE {2 ECER
3 91| KAR BEA 1| LB ERFRS 1 12.47 4 537| &Il _fiiE | RERHS 1 12.71
2 1033 | &5 K#g A 2 12.54 1 183[fBA FIK 1| EfES 2 12.87
4 1215 | Bk E18 2| LEERERS 3 12.72 2 1315| =8 Kig 2| ikE 3 12.99
1 1262| K @3 2| ZETE 4 12.94 3 1314[HRE MmFE 2| iRE S 4 13.20

21#8]  No. [+1.0m i IE 45z FRER 2248  No. [+1.3m i JIE 4z Eo8%
1 536 |HEA 2 1| REFHS 1 12.37 1 838| &R KiAl& AIEICESS) 1 12.53
3 1087 [Fa4T K 2 MALEEEE 2 12.59 2 AR L 6|BILCA=TEL 2 12.92
2 1434 [#3k —&k 2| RE[FPP 3 12.60 4 196|FH 18 EA=GT) 3 13.05
4 843[ MMk RK ARCESS 4 13.01 3 1313|# £ E¥E 2| iEEF 4 13.24

2348 No. -0.6m FiE JIE {2 L8R 2448 No. [+0.2m E JIE {2 kg
1 1265|F 2 BF 2 REFPE 1 12.98 1 3863 | HiE U|A)ETTISR 1 13.59
3 184|#2M F0K S 2 13.25 2 1316| THE 2F 1| kB 2 14.14
4 3883 AIH AREE $3 |[AUYLVEFT TSR 3 13.45 3 39148 HR hi|AUVET TSR 3 14.22
2 581[#8M ##X S DNS 4

2548  No. +0m i JIE {2 iR 2648 No. [+1.0m i JE AL FRER
3 1136 [#2HA i@+ 1| SfEh 1 14.53 4 1433|FAE BXR 2| R=MYE 1 12.13
2 3919(&H %57 1 |#YVETTSR 2 14.55 3 72359 |/ 1&E 1| [EEHIKE 2 12.69
1 19[fEA [ET 1| LEEBEES 3 14.83 2 13212| Bi5 et 13| R=EMFF 3 14.13
4 1 14215| Rl 3R 13| REMFF 4 15.45




W400mEBF

148 No. R i JIE 42 E08% 248 No. R g JE AL ER8%
2 TH £F 2{[EEBHX 1 49.56 3 1107 £ = [ Kt AEA=LiT] 1 50.22
1 #HHA BES 2{[EERX 2 49.72 2 71227|@&R KiE 2[EEIX 2 51.16
3 1646 |;E:8 MK |EEERS 3 50.30 1 71225|E0 & KER 3[IEEIX 3 52.21
4 889|=H HR Q08 =A% 4 50.76 4 877| LE#H Kith ESnns) 4 52.44

34 No. BIRE g I {2 FRE% 448 No. IRE g JIE {5 FRE%
2 867 |#NiE ZHt AS1CESS 1 51.42 2 844|F Il i3t 2| EBERS 1 51.61
4 71895| =K FEX A|[EBHMK 2 51.78 4 1298| E& fiF 2| LEERERS 2 51.93
1 KH HE 3|LERK 3 52.33 1 837(#%A Fth 2| EBES 3 52.46
3 71992 [ LLig 1EEBBX DNS 3 1135 || FAK AIICESS 4 54.48

548 No. R i JIE 42 E08% 64 No. R g JE AL ER8%
1 91| KAR BEA 1| IESERFRS 1 52.28 1 92|)llh BE 1| ESERFRS 1 53.14
4 1086 AN & th 2 ML EEE 2 52.71 4 1205 | #28F K& 2| RELE 2 53.54
2 1728| &5t R 3| E=#As 3 52.90 3 1260| =H &g 2REmE 3 54.39
3 72360 | iR BF 1| ESHIMKE 4 53.03 2 R 1|LEEITEXS 4 55.20

74 No. BIRE g I {2 FRE% 8#l No. HEE JIE {2 FRE%
4 Fp BE 1|EETEXRS 1 54.78 3 72114| X% & 1|EETEXS 1 52.47
3 3865(a0 #Hih 40{oPC 2 54.98 1 71075|HiTE  3X# 4[[EEBX 2 52.51
2 2277|iI1% FE 20| ETTfER 3 58.59 4 72119| = H  Fn#t 1EBIX 3 53.41

2 82(Hm HE =Nl 4 54.67

o# No. RRE B JIE 452 FRE% 1048  No. PR B JIE £ FRE%
1 492| KFE &4 | EEB8ES 1 55.32 4 995| &I thst 2| EBE 1 53.82
3 1040| B8 = SR 2 57.87 3 1206 |)I1%F FI& 2| TEEIE S 2 54.85
2 430|HF $RIA 1| &5 DNS 2 1084| K& FAF AL EES 3 55.46
4 M EE 4| EERK DNS 1 1278 | &1L EED 2| iR S 4 57.92

11#8]  No. A FiE I 452 s8R 1248  No. BmERE B JIE 42 ks
3 836 |1 H X 2| EEES 1 55.18 2 890(#t)Il BEER 208=#A5 1 55.88
1 1201 |7k B 2| iREIES 2 55.88 1 434|fEE & 1|55 2 56.42
4 1139[/MNER ¥FE 2005 8HE 3 57.46 4 468|Ek & 1| REIES 3 56.58
2 3920|#f.E AEEE 1 |[AUYLEFT TSR 4 59.01 3 433|HEKR EX &5 4 59.62

1348  No. RRE B JIE 452 FRE% 1448  No. PR B JIE £ FRE%
1 1212| R §E= 2| LEERERS 1 55.18 3 83|k K— 1| iEL S 1 56.52
3 1215| 5k =18 2| LEEBERS 2 57.15 2 196|FH #& HEA=GT) 2 58.39
2 1087 |Fa4t HK 2 MNEEEE 3 58.41 1 537| &Il _fiE | RERHS 3 58.76
4 1262| K A3t =g 4 59.03 4 1265| FE BH 2/ REFFE 4 1.00.01

1588)  No. A FiE I 452 s8R 1688  No. BmERE B JIE 42 ks
1 WA HEP 19|[EEBTEXF 1 1.00.36 2 3881 | A+t =& f2|FYVET TSR 1 56.94
2 838| R K& AE1CES 2 1.00.55 3 320|/MR1&E =) 2 1.05.52
3 1433|FHE BX 2| REFPE DNS 1 3011 | #% B 26 | S E TR DNS
4 4

1748  No. RRE S JIE 452 FRE%

1 3883[AI+t AREE F3 |[AUYLVETFTISR 1 1.03.27
2 21|tka K & E=ni) 2 1.05.16
3 1136 [#2E@ @ 1| £ 3 1.12.14
4




H80OmMBF

148 No. A F i I 3 FCE% 248 No. A F i@ I 5z FOE%
3 2067 |{kE #E I LEEHES 1 1.54.96 4 23[AL EA 1| EEEES 1 2.00.63
2 1641|588  f% IEEEES 2 1.55.50 2 1183 |FIBRE X 2| ERES 2 2.01.36
4 71231 IiF R |BEBEIK 3 1.55.97 1 71891 |E =i 3| EBMHIIK 3 2.02.35
5 72302 E)IgEZ A A NZEEFS 4 1.57.89 3 242|mE &S 1| EeBESs 4 2.02.50
7 71988 |=2 E#% 1|EEEX 5 1.58.26 6 837|&ME =th A 5 2.04.87
8 71142[ X% $Rt 1| REEX 6 1.58.62 7 1109 |4t EH AEA=E 6 2.06.65
1 71143 #m B3 1 |EE8EX (BB 7 1.59.35 5 71884[3kA K 2| EBIIK 7 2.07.78
6 11313| t# BE& EEA P 8 1.59.51 8 3381 |k#t £F 2| AYVEFTIR 8 2.13.20

3#H No. s £ i JIE 32 ks
1 3011 |m% B 26| BEHER 1 2.21.94
2 1122|448 HESE 2 2.23.72
6 1131 KM 23} 2| EEp 3 2.24.98
4 113814t BEX HESEG 4 2.27.05
5 112988 B2 2| g 5 2.29.23
3 1124|378 #$F 3| £ 6 2.30.53
7 1130 | A AELR 2| g 7 2.40.60
8

H1500mB¥F

148 No. A £ i JIE 4z FRER
1 71102| K2 {6 S[ESHFEXQA) 1 4.04.29
2 72000 1Kk /& M [ESEEX 2 4.06.99
5 35|#t £ IE# 30 - FZEG 3 4.12.24
4 71031 AR FTX J[EEX (BEA) 4 4.16.48
8 532 #50K i6E 1| REFDE 5 4.22.05
9 435| BR8P M4 1| &EE 6 4.24.07
10 37|=H &3 O - #@A 7 4.24.69
7 12328 | 1ch  $F RIEETEER 8 4.27.53
21 3864|AA  EIE 9[AYETTISR 9 4.36.44
12 333| EIF Hth 2(lu0 - #xH\e 10 4.38.82
13 1312|%ix BF 2|ikE 11 4.40.92
11 399|Hp H|E 3 - BMA 12 4.42.36
17 3877 # E1EAER 3| AYETFTSR | 13 4.44.54
14 1263[3R A  EEH AEET k=) 14 452.82
16 =l =i 10 - #@Ad 15 4.54.50
18 3916|110 K#0 Pl AU VEFTISR | 16 5.09.75
19 11461 |71l #h7H 6| by TXTES 17 5.09.88
15 EE A 10 - #@Ad 18 5.14.91
20 1134|HE EX 1| EfEs 19 5.42.59
3 71891 | &R EB{E J|EBMHIXK DNS
6 2067 [{kKH WHE LEHES DNS

H3000mB-¥F

148 No. A £ i JIE 4z % 24 No. BIRE F g JE AL FRER
12 11094t EH EA=hiT=] 1 10.02.99 1 4581 | & iE R BB 2[)\KRxep 1 10.05.24
1 14214 K 1| Ri&EmRS 2 10.07.73 5 5741 ;FE  HEX 20ZRERF 2 10.07.65
4 189|1Z#% 138 1]#tA 3 10.27.65 14 [FH #EE 4| EEERX 3 10.11.31
2 3073 KB IEAI 46 | EE TR 4 10.28.04 25 1642 | BT $A— 3[F (uA) 4 10.13.50
7 14603| LA Hi= 1| J\K# e 5 10.29.36 3 1424| 5@ EH MES AL 5 10.15.43
3 2125| B E  BERER 1| EE&=f5 6 10.30.22 26 1426|1—H +# 2| RtEET 6 10.15.67
21 1555 @ A e 7 10.35.77 9 4915|8e3 5% MLEES 7 10.16.81
16 5743|AH EHt 1N=FERT 8 10.36.84 2 1278|&IL iEH0 2[ELS 8 10.18.27
18 4265(F @A KA 1]:EAS 9 10.37.18 12 12604t FEX 2| &k 9 10.21.24
9 316| B K& 1|EE 10 10.41.16 4 5457|f8H &KX 1=RERF 10 10.21.94
23 1298 InZ 2| SfE 11 10.47.07 6 ZH FiE 35| REER 11 10.23.22
17 4246 LIF K E 2|EHEG 12 10.49.40 17 4205| =/  FiZ 1| R=MHhe 12 10.24.61
22 1427 BHEA 2| RiERS 13 10.50.27 8 19448 R— 1|EEHS 13 10.25.23
28 1124 R HTF 3| FEP 14 10.53.38 23 4199| = AKX S ik 14 10.26.02
26 14602 | FA 1&F 1]\ &g 15 11.01.08 21 3873|hHt  #K AV VEFTSR | 15 10.28.76
8 1138) )14t B 3| EEP 16 11.05.37 24 4200| KA RE 2| RERMFF 16 10.30.96
33 1131| KA &3 2| FfEp 17 11.06.37 22 4907 |tk K& AGEIESL 17 10.31.49
11 1106 |B%E  &th AEAEG T 18 11.09.26 19 1306|£0  X# 3|EEH 18 10.32.35
5 4206|1lLk EAR 1| REFGg 19 11.11.08 18 4598| HH XE 1]\AHAch 19 10.34.30
20 4253|F% R 1]:EAS 20 11.12.45 11 1242| H# £ B M 20 10.34.67
29 14600 BA ¥% 1|\ 21 11.14.88 10 12563k BEF 2|&kd 21 10.35.06




27 4259 | BER AN#E 1A 22 11.18.18 7 4258| LA = 1EEF 22 10.36.08
19 % RE 24|@EG 23 11.22.48 15 4202 | ¥H BEXK 2|{R=[Fgs 23 10.39.10
32 4251 [ A #E A B 2[iEE$ 24 11.23.03 20 2126|#37t  $ 1| GEE=#F 24 11.25.61
30 4250(=IF $RE 2|EHEG 25 11.25.16 13 4911 | K& BE3} MEELELS DNS
6 4184| K8 B2 MESS bk 26 11.29.92 16 420318 A 2| R=MET DNS
14 1122(377c  #E#E 2| FfEp 27 11.48.73

36 1130[ &K BEKER AL 28 11.50.70

31 1309(FH BEF 3| REF 29 12.01.33

15 14211 |3EE  MTE 1| REFGG 30 12.15.69

10 4916 |l Kt ML 31 12.16.69

35 1322 B+L 1| RE 32 12.16.93

13 46| hF g3t 1| EE¥RS DNS

25 1126 )ik FOA J|EED DNS

34 4205(EMH B | ZR=Fs DNS

24 14211 |BEA MF 1| RE=Fdd DNS

37




E3000m&AF

34 No. R & i JIE 42 E08% 448 No. PR i g JE A2 ER8%
26 1640|3tF [ IEEBEES 1 9.34.57 1 11100| KB & J|EEREX 1 8.31.40
1 71437|# . B 1[iEgX 2 9.35.26 3 71092| KT & 4| EERERXR 2 8.38.98
4 834|=8 MFE AES1CESS 3 9.26.32 7 71099 [¥EE  FO5R J|EERK(BR) 3 8.39.60
36 71113 KA #E 2{LEEREKX 4 9.40.81 19 1207(/hik & 2| iEEIE S 4 8.39.86
7 71069 | Bl = AEBX 5 9.42.50 4 71093 | R 5% 4| [EEREX (W) 5 8.40.20
2 1425|880 % 5 =3 3| RIERP 6 9.43.71 5 71095 |#EH &KX 4|EERXR 1A) 6 8.40.48
12 17(FA #$iE 3[FE (M) 7 9.44.33 10 1638|fsH  #EH |LEBEES 7 8.42.74
27 1663| B&E Rk 3 EEES 9 9.47.91 9 71110 5% 81— 2{[EERK 8 8.45.03
5 4578 |fEXE  3EX [/\K# P 10 9.48.39 21 1644|hiE  RE# J|LEEES 9 8.52.52
10 424113b%  BAK 3|iEAT 11 9.48.75 2 934[iRA = 2[BEEES 10 8.53.62
6 1719| 5@ =& [FE (M) 12 9.50.53 14 197|485k FHh 1| BEEES 11 8.54.67
16 21| %% #HA 1|EEBEES 13 9.51.33 11 935|EHF EHE 2EEER 12 8.54.99
9 1244[0 HE 3| RiEF 14 9.51.73 8 71139 ¥ ESEX 13 8.57.04
15 566[RiIL EA 2(FE (o) 15 9.52.32 12 9381 E—H | 2|ABEES 14 8.58.67
8 4908(fngE EEth AEELELS 16 9.52.83 13 213|M3 B EEI-E 30 15 8.59.11
22 4582 | I HHE 2[\K#ep 17 9.53.64 20 2425|811 EA 36| REER 16 9.02.21
28 867 | ¥l Z#t AES1CESS 18 9.56.91 22 200 E #ERER | 1 [AEEES 17 9.04.65
23 205|H)Il FE 1FEE auf) 19 9.58.18 16 203/ BE 1|EEEES 18 9.09.94
13 1423|558 X 3| RSP 20 9.59.08 32 1712|#3E RE MEEI I 19 9.18.74
25 1422(|EE %D MEHGES 21 9.59.71 33 117| &% 5%t AEES 20 9.19.53
20 1258 (/K& EiEth 2|&kp 22 10.00.00 18 820[FTHA 1B L 21 9.20.14
21 4585 | Rk BI= 2| \KX#iep 23 10.00.36 27 1639| HIR ZFth S[FE (uA) 22 9.20.40
19 1263[815 {—Z2® 2| =g 24 10.01.04 25 1709|hE filiz 3 BEEES 23 9.20.87
24 2122|#10 X 3[=F0F 26 10.04.55 35 2025t &EF 1EEEES 24 9.22.00
3 20| fREE 12 1| EEEES 27 10.05.06 23 1711 % 3t MEEITS 25 9.22.21
14 4201 |FA BN Sk 28 10.07.55 24 201 (34 KK 1|EEEES 26 9.24.44
29 86|z B 1| &EEES 29 10.09.35 6 711438 B3} ESEX (Z1E) 27 9.24.69
18 1261|760 2| Rtk 30 10.12.99 28 533|R&%Zx A 1| REFHS 28 9.29.73
17 867[ATEF  FHOKER 2|FE (LM 31 10.14.51 15 205[4E@ MK 1EEEES 29 9.30.07
11 871[#R & S[FE (M) 32 10.15.01 29 206 (M HEk 1|EEEES 30 9.30.57
31 4149 BB SERR 2| REFFP G 35 10.32.31 17 2067 |{KH H#E J|LEEHES 31 9.34.06
30 837|FMA Eth [EBERS 36 10.36.53 31 5741| &t IEA Q0=RERF 32 9.35.39
34 204|FHFB K& EEI-E3 33 9.40.57

36 22|5H #X ESEES 34 9.46.91

26 198\l H 1| BEEES 35 9.50.74

30 2124|%8H EXH | 2|EE=f4 36 10.06.86

E5000mEF

148 No. RRE & S JIE 452 FRE% 24 No. BRE 3 B JIE £ FRE%
8 s0[)0 g A | IEB%ha 1 16.57.98 3 880 M4t A3} 2[ftAE 1 16.07.44
1588 =147 #hiE 2| EEB¥kEa 2 16.59.09 22 702 FxRAE HA 20| BEIKEH 2 16.13.05

12 BfE 188 19| RIESTHRER 3 17.01.38 2 1062| &)1l BE— 2{AAS 3 16.15.69
6 876k EE 2| RETE 4 17.05.90 8 1261| /B F#h 2 RETE 4 16.18.91
2 195[ 85K A 1| EEfHS 5 17.10.39 17 80|hA FE =T 5 16.19.79
13 203|BH N 1| iEE LS 6 17.18.75 5 840| B & 2 BEES 6 16.20.99
1 706|FH St 28| Bfif%iEE 7 17.24.62 19 141|88F F04t HEEni) 7 16.24.90
5 87| IR fikth HEICE 8 17.29.69 15 1581|/NE thEH 2| LE¥REE 8 16.30.03
9 4| FE BN 1| EE¥kRS 9 17.34.14 4 1679|1kA fE 3|L& 9 16.32.64
16 322[db)Il A% eSS 10 17.34.65 10 712(FHd BN 28| BRI EH 10 16.34.57
11 56| HF Kl 1| EEBEtS 11 17.36.74 1 936 A+t #hXKX 2{EERER 11 16.35.00
18 1585|1815 #A70 2| LEFRE 12 17.39.12 18 1247|8R HE 2[ftAE 12 16.37.57
23 503|/MNRJI| BX 1|E& 13 17.40.87 26 1059|7EH MF 2[ftAE 13 16.45.66
20 29434 3RER 1| EES 14 17.50.63 24 A X# 19| BAIBER 14 16.46.30
4 1055 [ KAT FAER 2|t AS 15 17.50.73 12 703| +H EENE 20| BEIKEH 15 16.47.69
15 1583|518 £4 2| LE¥RE 16 18.04.88 9 990|158 HEKX 2[NS 16 16.51.18
14 1440|1855 E& 2| LE¥RE 17 18.35.83 27 81| K#8 #hig == 17 16.56.35
27 469|881 151h 1| RETS 18 18.38.11 28 10| AR HiE 1 ES 18 16.58.18
22 493 | /MR FEAER 1| B S 19 18.44.73 21 88| HE EX 1|EBRS 19 17.00.05
17 505|[AA 12 1ES 20 18.45.73 13 1202 |FEE R 2| REIES 20 17.01.76
3 527|F)Il HEBKX 19| SRPC 21 19.05.23 11 1436 | HR X 1| EEBEXE 21 17.02.84
24 1199 %% &K 2| TREIES 22 19.16.70 25 705|E& F&FL | 19| BAEKER 22 17.05.29
21 1586 |fB A& 1B 2| EB¥REe 23 19.20.48 7 2145|F )1l EHE 3| EBIBEXRE 23 17.14.12
26 1582 [# R &K NS 24 19.21.60 6 1057|Ks #AK 2[ftAE 24 17.19.32
19 205(ILRE ARth 1| iEE LS 25 19.22.24 29 1196 |t EAER 2 LEEERS 25 17.19.54
25 192|BR1C HEA 1| EEHIES 26 19.26.41 23 104| EHE F 22| BEKER 26 17.22.09
29 506 |#AE —#E 1EE 27 19.43.56 30 709 | &3 BHE 19| BRAIBER 27 17.23.36
28 2T X PNz 28 20.02.64 16 1183|[MEHA KX 2ERFE 28 17.32.90
30 1200 Rk BiR 2| TREIE S 29 21.35.20 14 1203| AR TFR 2| REES 29 17.44.20
20 1930[JM.E XK 3[FtAR 30 17.53.87




E5000m&BF

34 No. BERE & i JIE {2 FRER
6 T142|8fE = 3| BIBRY/\BES 1 15.04.22
12 71141 | A B ESBX(EEH) 2 15.04.46
4 71101 [ILUA Bk | EERK(EIR) 3 15.05.18
11 1707 AR ¥EX MEES T 4 15.05.82
9 878|EHE & 2l RETE 5 15.07.95
17 89| & H FER 1ftAS 6 15.08.09
1 71103| KB #hth 2|[EERRULO) 7 15.10.03
18 2425|811 EA 36| R=FEH 8 15.14.72
2 2849|FH F 23| ER M FER 9 15.21.57
7 71108| A g3 2|[EERRQNO) 10 15.25.35
10 71094 (Rl Hz 4| EEREX 11 15.27.59
25 M= S AGEIT) 12 15.29.46
14 881|EAR KXt 2[ftAE 13 15.30.30
8 71106 |$%MA R 2{EEBRKRER) 14 15.31.52
16 71109| XK X 2{EEFRWA) 15 15.33.29
3 1616 [F%MA FFE EES 16 15.33.50
5 7143|— % @3} 3| BIRR/\UWEES [ 17 15.36.62
24 937|hAX X AEEI T 18 15.37.36
13 71096 | X _[&F 4| LERK 19 15.39.47
23 71| FHF BX 26| Bfif%iEH 20 15.41.04
20 1144/ 4k BEg 1EBBX 21 15.52.06
31 835|RilE & AE1CES 22 15.56.06
19 933| AN K— AGEIT) 23 15.56.85
15 1665|RE B4 HENEL TS 24 15.57.07
22 7156 | =N MK [ EBRET/\BES | 25 16.08.43
21 7128| LU EAKER 3| BIEIR/\UWBES [ 26 16.15.31
27 PARRRA NGRS 2{[EEX 27 16.16.73
28 879|kHE &4t E=Nia =) 28 16.17.59
29 1259|/MAR 3% 2l RETE 29 16.50.80
30 72000 | iRk M1 |EBEBEX 30 17.11.71
26 1462(5H F 36|MTXTLES DNS




